
 

 

 

 

 

 

 

ARUN S NAIR  (STATE RESOURCE PERSON ) HST CHSS ADAKKAKUNDU 

1.Nichrome നിേŗകാം  

2.50V  

3. Optic center ŗപകാശിക േകŗŷം 

4.1V 

5. Split ring commutator  

6. Scattering വിസരണം 

7. kilowatt hour 

8. Fleming,s left hand rule െƘമിംഗിŀെറ ഇടļ ൈക  നിയമം 

9. Regular reflectionON ŗകമ ŗപതിപതനം 

10. u= -60ccm , v=-30cm  f=uv/u+v  = 1800/-90  f=-20cm 

11. Always shut off the power to a circuit or device that you will be working on. Always 
use appropriate insulated rubber gloves and chappals.  

നിšൾ ŗപവർŮിŚുŹ  സർകŖൂŨിേലേŚാ ഉപകരണŮിേലേŚാ ഉƄ  പവർ 
ഓł െചƂƧക. 

 ഇലĭŗടിŚൽ സർകŖൂŨിൽ  ŗപവർŮിŚുേƀാൾ എലīാņേżാഴും ഉചിതമായ 
ഇൻസുേലƃĹ റſർ കƂƧറകളƧം റബർ  െചരുżƧകളƧം  ഉപേയാഗിŚുക. 

12. When it is rotated fast the colour blend to form white colour due to persistence of 
vision. Persistence of vision is also known as an optical illusion that takes place when 
pictures are in motion. This happens when the human brain perceives more than two 
images that are formed on the retina within a time period of 1/16th of a second. 

വീŜണ Ɖിരത 



 

 

13.a Violet 

     b.Red 

c. This is because Violet has the least wavelength in the spectrum and therefore 
undergoes maximum refraction. Red deviates the least as it has the highest wavelength. 
ŏെപĭŗടŮിൽ വയലƃിŀ ഏƃവും കുറŧ തരംഗൈദർഘŖം 
ഉƄതിനാലാണിļ, അതിനാൽ പരമാവധി അപവർŮനŮിŀ വിേധയമാകുŹു. 
ഏƃവും ഉയർŹ തരംഗൈദർഘŖമുƄതിനാൽ ചുവż് ഏƃവും കുറŢƧ  
വŖതിചലിŚുŹു. 

14.a Electric energy into sound energy ൈവദŖുേതാർŤം ശŽ ഊർŤമായി 
മാറുŹു. 

     b.Musical signals from amplifier in the form of electrical signals flows through the 
speaker’s voice coil, creating a magnetic field that causes it to move (to and fro) and  
vibrate the diaphrom , that creates sound waves as the air moves rapidly and 
reproducing the sound. 

ൈവദŖുത സിŞലുകളƧെട രൂപŮിൽ ആംƗിഫയറിൽ നിŹുƄ സംഗീത 
സിŞലുകൾ ŏപീŚറിŀെറ േവാņŏ േകായിലിലൂെട ഒഴുകുŹു, ഇļ ഒരു 
കാŵിക മūലം സൃƈിŚുŹു, ഇļ േവായിŏ േകായിലിെന  ചലിżിŚുകയും 
േകായിലുമായി ബŸിżിŢ  ഡയŗഫെŮ കƀനം  െചƂƧകയും െചƂƧŹു, 
വായുവിലൂെട  ശŽ തരംഗšൾ സൃƈിŚുŹു. 

15. a Stepdown 

      b. Stepup 

      c.Stepup 

      d.Stepdown 

      e.Stepup 

      f.Stepdown 

16. u=-12cm, v=-24 , ho =5cm 

       a) M= -(v/u) = -( -24/-12) =  -2  

        b) hi = -(v/u) x ho    =  -2  x 5 =-10cm 

        c) Magnification is positive for virtual images and magnification is negative for real 
images. 

മിഥŖ ŗപതിബിംബമാെണŠിൽ ആവർധനം  േപാസിƃീŌ ആĻ, യഥാർů  
ŗപതിബിംബമാെണŠിൽ ആവർധനം െനഗƃീŌ ആĻ. 

 

17.a) L.E.D 

      b) when high potential difference is applied between the electrodes electrones are emitted 
and gas gets ionized .ions and atoms collide each other to produce light ഇലĭേŗടാണുകൾ 



 

 

പരŏപരം കൂŨിയിടിŚുേƀാൾ ŗപകാശം പുറെżടുവിŚുŹു എŹ അടിƉാന 
തതřŮിലാĻ ഡിŏചാർĴ ലാƀുകൾ ŗപവർŮിŚുŹļ.  ഇലĭേŗടാഡുകൾŚിടയിൽ 
ഉയർŹ െപാŨൻഷŖൽ വŖതŖാസം ŗപേയാഗിŚുേƀാൾ ഇലĭേŗടാണുകൾ 
പുറെżടുവിŚുകയും വാതകം അേയാൈണŏĹ ആകുകയും െചƂƧŹു 
.അേയാണുകളƧം ആƃšളƧം പരŏപരം കൂŨിയിടിŢ് ŗപകാശം ഉļപാദിżിŚുŹു 

 

18 a) AC 

      b) 1 Field Magnet ,2 Armature coil  ,3 Slip rings, 4 Brushes  

      c) Electromagnetic induction ൈവദŖുത കാŵിക േŗപരണം. 

19 a) 

      
    b) Image is inverted real and enlarged  

ŗപതിബിംബം തലകീഴായതും യാഥാർůവും വŏതുവിേനŚാൾ വലുതും ആĻ. 

    c) 2F 

20 a) The energy crisis is the concern that the world’s demands on the limited natural 
resources that are used to power industrial society are diminishing as the demand rises. 

വŖാവസായിക സമൂഹെŮ ശśിെżടുŮുŹതിŀ ഉപേയാഗിŚുŹ  ŗപകൃതി 
വിഭവšളƧെട ആവശŖšൾ  വർŴിŚുŹതിനനുസരിŢ് ലഭŖത കുറയുŹു എŹ 
ആശŠയാĻ ഊർŤ ŗപതിസŸി. 

       b) energy waste , over consumption & non judicious use  ഊർŤ പാഴാŚലും അമിത 
ഉപേഭാഗവും 
                Use energy efiicient devices and machines.Increase the use of renewable 
sources of energy .Solar Energy, Wind Energy, Hydroelectric Energy, Geothermal 
Energy, Tidal Power of Ocean, Biomass, Hydrogen are various resources of renewable 
energy  

ഊർŤ കാരŖŜമമായ ഉപകരണšളƧം യŗŵšളƧം ഉപേയാഗിŚുക. 
പുനരുപേയാഗിŚാവുŹ ഊർŤ േŗസാതƋƧകളƧെട ഉപേയാഗം വർŴിżിŚുക. 
സൗേരാർŤം, കാƃ് ഊർŤം, ജലൈവദŖുത ഊർŤം, ഭൂതാപ ഊർŤം, 
സമുŗദŮിŀെറ േവലിേയƃ ശśി, ൈജവവŏതുŚൾ, ൈഹŗഡജൻ എŹിവ 
പുനരുപേയാഗിŚാവുŹ ഊർŤŮിŀെറ േŗസാതƋƧകളാĻ. 

21.a) Power  



 

 

     b) R= V2 /P = 2002 /100  = 400Ω 

     c) Long Lifespan,energy efficiency,low voltage operation, ,low power consumption ,no 
loss of energy in the form of heat ,no  UV emissions. ദീർഘായുƋ്,ഊർŤ 
കാരŖŜമത,കുറŧ േവാൾേŨĴ ŗപവർŮനം, താപ രൂപŮിലുƄ നƈം ഇലī  , 
അൾŗടാ വയലƃ്  എമിഷൻ ഇലī. 

 

 

22a) Watt hour metre 

     b) 1) In parallel combination each appliance gets the full voltage. 2) If one appliance is 
switched on/of others are not affected. 3) The parallel circuit divide the current through 
the appliances. Each appliance gets proper current depending on its resistance. 

1) സമാŵര രീതിയിൽ  ഓേരാ ഉപകരണŮിനും പൂർŬ േവാൾേŨĴ ലഭിŚുŹു. 
2) ഒരു ഉപകരണം  സřിŢ് ഓണാŚിയാൽ/മƃƧƄവെയ ബാധിŚിലī.                      
3) സമാŵര രീതിയിൽ  ഓേരാ ഉപകരണŮിനും അതിŀെറ ŗപതിേരാധം 
അനുസരിŢ് ശരിയായ കറŀň ലഭിŚുŹു. 

     c) ELCB stands for earth leakage circuit breaker, it is a protective device which would 
suddenly switch the electricity off in case of any leakage of electricity. This device can protect 
the people from electric shock, ELCB is also called as RCD.  
 ELCB എŹാൽ എർŮ് ലീേŚĴ സർകŖൂŨ് േŗബŚർ, ഇļ ഒരു സംരŜണ 
ഉപകരണമാĻ, ൈവദŖുതി േചാർŢയുŪായാൽ െപെŨŹ് ൈവദŖുതി ഓł െചƂƧം. 
ഈ ഉപകരണŮിŀ ആളƧകെള ൈവദŖുതാഘാതŮിൽ നിŹ് സംരŜിŚാൻ കഴിയും, 
ELCB-െയ RCD എŹും വിളിŚുŹു. 
 
23 a) 42o  
     b) C 
     c) It is the optical phenomenon in which waves arriving at the interface (boundary) from one 
medium to another (e.g., from water to air) are not refracted into the second ("external") 
medium, but completely reflected back into the first ("internal") medium. ഒരു  മാധŖമŮിൽ 
നിŹ് മെƃാŹിേലŚ് (ഉദാ: െവƄŮിൽ നിŹ് വായുവിേലŚ്) കടŚുŹ ŗപകാശ  
തരംഗšൾ രŪാമെŮ ("ബാഹŖ") മാധŖമŮിേലŚ് അപവർŮനം സംഭവിŚാെത , 
ആദŖേŮതിേലŚ് പൂർŬമായും ŗപതിഫലിŚുŹ ŗപകാശ  ŗപതിഭാസമാണിļ. 
പൂർണാŵര ŗപതിപതനം. 
 



 

 

24 a) 3 Ω ,12 Ω                                                                                                                                                                           
b) I=V/R = 12/3 = 4A 

c) H=I2 Rt =  (V2 t) / R  = (122 x 1800) /12 = 21600 J 
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